N R XE AR A RSk EHiRET SR BE, Q1. RS

JFH4 . JFHP-rmersimir
SN
P - 632 — 14
TIYY

FOME B KE
OGRS AR AR (T

S

RN

d
\

&
i

R PR R R I

BRETRA BAS% WRET AR R AbH RIS
JFH4 SMREL, A 6g, Ji 24 | 400 REIAGES: | AL, BiLAE | A% T HRBI2 B HB195
JFHP SMREL, A 6g, Ji] 24 | 400 REIAGES: | AL, BiLAE | A% T HRBI2 B HB195
URETIRA [ KRR “L” +0.4 H s
400 BF|AR4Ee: | RS (K BEARRE AZ KAL) +0.4 | BK
JFH4 | JFHP M3 6 8 10 12 15 18 20 25 - - 4.6 2.1
JFH4 | JFHP | M3.5 6 8 10 12 15 18 20 25 30 35 5.3 2.25
JFH4 | JFHP M4 6 8 10 12 15 18 20 25 30 35 5.9 2.4
JFH4 | JFHP M5 - 8 10 12 15 18 20 25 30 35 6.5 2.7
JFH4 | JFHP M6 - - 10 12 15 18 20 25 30 35 8.2 3.0
HHI R~ (BAL: FE in)
KEMRMG “L” £.015
ek e (KB 1/16 Fo~ o) A
400 RFIREHE .250 | .312 | .375 | .500 | .625 | .750 | .875 | 1.000 | 1.250 | 1.500 | ~ "
JFH4 | JFHP 440 4 5 6 8 10 12 14 16 - - .176 | .085
JFH4 | JFHP 632 4 5 6 8 10 12 14 16 20 24 .206 | .090
JFH4 | JFHP 832 4 5 6 8 10 12 14 16 20 24 .237 | .090
JFH4 | JFHP 032 - 5 6 8 10 12 14 16 20 24 .256 | .100
JFH4 | JFHP | 0420 - - 6 8 10 12 14 16 20 24 .337 | .135

E: - BT
BERFEHIRT (Ffr: 3K in)

RS 4 N 23 # AN
weomke | o | R | FUTGE | S | [ ek | G | RewE | FEGT | e
M3 x 0.5 M3 1.0-2.4 3.0 5.6 48-40 440 . 040-. 095 0.111 0.219

M3.5 x 0.6 M3.5 1.0-2.4 3.5 6.4 64#-32 632 . 040-. 095 0. 137 0. 25
M4 x 0.7 M4 1.0-2.4 4.0 7.2 8#-32 832 . 040-. 095 0. 163 0. 281
M5 x 0.8 M5 1.0-2.4 5.0 7.2 10#-32 32 . 040-. 095 0. 189 0. 281
M6 x 1.0 M6 1.6-3.0 6.0 7.9 1/4-20. 420 . 062-. 117 0. 249 0.312

R 400 RF|ANBERIBETER T 300 RFAGERR L 23 K F s B 1T
EETHHBRFARBE:

1. BAF= KR E T E A R

2~ AT EE IR B E A

3 BRAFE SR EL 300°F (149°C) ML EMEERT.

YRR 13914003355 (FHoeE) FR % #: 13914002255 (o)
BEJERS: 13511601078 (F4E) A ML www.szjdph.com



7N ERRRE G BRAE

FHERT L EDIRTT

miR. BE. QUE. RS

RS- TFH4A B B4T

%!ié% ﬂ%ﬂi&%ﬁ%k 2 B R R ;?%H%B@E fiﬁﬁéjj T&tllqjjj jﬂf\lt,ljmjj *ﬁtllqjjj
M3 1.3 1. 5mm B 87 40 2220 1.8 3500
M4 3.8 1. 5mm B 86 50 3210 6.5 8000
M5 6 1. 5mm NEEEH 86 53 3560 10.7 10000
M6 11 1. 6mm ANEE4N 88 71 4200 15.9 14900
I T L s el M~ T o B o B
440 11 . 060" AEE4N 87 9000 450 16 800
ZE| 632 22 . 060" AEEN 87 9500 540 27 1350
fl 832 35 . 060" BN 86 11200 780 58 1800
032 51 . 060" BN 86 11200 800 95 2250
0420 117 . 060" B4R 88 23000 1600 156 3900
e S $-JFHP NBLkIB4T
%—%% %ﬁ?ﬁ%ﬂ?ﬁﬁ Jes R B BM R ;?%H%B@E fi%ﬁ TE%'JJ %@mﬁ T\‘itllqjja
M3 1.3 2 mn NEEWN 86 40 2500 1.6 3500
M4 2.9 1. 14 mm 86 50 3000 3.9 6000
M5 4.4 1. 14 mm NN 86 53 3560 7.35 7320
fm | BUEERS | sempmmmpn | FRERE | RED ) R BED B
| 440 11 . 045" AN 86 9000 520 10.6 605
i 632 22 . 045" FEEN 86 9500 670 19.5 940
832 35 . 045" FEEN 86 11200 785 37.5 1415
032 51 . 045" FEEN 86 12000 800 59.5 1500

B ESZE: 13914003355 (FH4A)
SRS 13511601078 (F54)

ARG 13914002255 (BhsieA)

A P . www.szjdph.com




